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:I(h(x) :h(x) = x3 + x² - 7x + 2.
h(2)  h(x)

h(x) = 0.

II(fg :f(x) = x² + 2x - 3g(x) = x
x

(Cf)(Cg); ,O i j

  (Cf)(Cg)
f(x)(Cf).
g(x)g(x) = a + b

x - 1}{1x -ab

(Cg).
III     (  f1  f2  f1(x) = f x   f2(x) = f( x )

  Cf1  Cf.
  f2  Cf2Cf
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ABCDO  G{ }(A , 1) ; (B , 2)  ; (C , 3) ; (D  ; 6)

1.  I  { }(A , 1) ; (C , 3)     J{ }(B , 2)  ; (D , 6)
2.  G  I  J  1  2    G
3.  M .  (D)  M

MA + 2MB + 3MC+ 6MD = 6 MA MC
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G’{ }(A , 3) ; (B , 6)  ; (C , 1) ; (D , 2)

O  G  G’
:2 +2

fg   :f(x) = x²  g(x) =
x²

1.f(x) – g(x)
2.  f  g  

:2110      +210
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